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%;/ If the angular velocity of the drum is increased uniformly

i A wheel has an initial c]ockw}se angular \'iloc1t}' of 10 crofa 6 rad/s when £ = 0 10 12 radls when t = 55, determine the

‘rad/s and a constant angular acceleration of 3 rad/s®. Determine magnitudes of the velocity and acceleration of points A and B on

the number of revolutions it must undergo to acquire a clockwise the belt when 1= 1. At this instant the points are located as
hown.

anoular velocity of 15 rad/s. What time is required? i

’9/ A flywheel has its angular speed increased uniformly from
" 154ad/s to 60 rad/s is 80s. If the diameter of the wheel is 0.6 m,
‘determine the magnitudes of the normal and tangential compo-‘
nents of acceleration of a point on the rim of the wheel vhen
1= 80s, and the total distance the point travels during the <ime
'pen'od.

3 = If the angular velocity of the disk is increased uniformly
from 3 rev/min when 1 = 0'to 10 rev/min when r = 4 s, determine
thémagnitudes of the velocity and acceleration of point A on the
‘disk when t = 4.

< q - The operation of *‘reverse’ * for a three-speed automative
transmission is uluqr,led schematically in the figure. If the cran

ft G is turning with zn angular speed of 60 rad/s, determine the
ar speed of the drive shaft H. Each of the gears rotztes bout
~xed oxis. Note that gears A and B. C end D, E and F are in
nesh. The radii of each of these gears are reporied in the figure.
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is defined by 8=

((L'f Lhz) rad. veere i< i ie e Dot ’._‘:'ngrhe.numb’ cf eve-
il “ QKCS‘EEQ‘QF\ :jﬁ‘: d‘sk - /'L@{ If the hoisting gear A has an initial angular velocity wy =
- 8 rad/s and an angular deceleration ay = —1. 5 rad/s®, determine

the velocity and acceleration of block Cin 2s.

celeration a4 = 3 rzd/s®. determine the
and accelerztion of block B whent =

The power of a bus
} -ement shown. If 1




